BHARAT COKING COAL LIMITED A Subsidiary of Coal India Limited भारत कोकिंग कोल लिमिटेड (कोल इण्डिया लिमिटेड का एक अंग)

OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR - 713324, DIST-BURDWAN (W.B.) Phone: 06540-272126; FAX 0341-2520063

Ref. No. BCCL/XII/ACE/QTN/2011-12/38/1467

Dates: 16.09.2011

Sealed Quotations on percentage rate basis are invited from the bonafide & experienced contractors for the following works: Terms and conditions:

QUOTATION NOTICE

Sl.No.	Name of the work	Estimated cost	Earnest Money	Time of completion
1.	Out side reparing of 1 (one) block 'B' type qtr No. 13,14,15 & 16 at R.S. Colony.	Rs. 21,290.00	Rs. 215.00	20 days
2.	Repairing & maint. Of stationary store at C.V. Area.	Rs 29,777.00	Rs. 300.00	15 days
3.	Miscellaneous jobs at Begunia Dispensary under C.V. Area.	Rs. 40,214.00	Rs. 405.00	20 days
4.	Roof repairing with bitumen paint of Begunia dispensary.	Rs. 12,058.00	Rs. 121.00	10 days
5.	Renovation of old club house convert to transformer room at Manberia of V. West colliery.	Rs. 69,535.00	Rs. 700.00	25 days.
6	Repairing & maint. Of 1 (one) room at School building Begunia.	Rs. 48,186.00	Rs. 485.00	20 days
7	Repairing & maint. 1 (one) unit 'C' type qtr no. C/9 at R.S. Colony. Begunia.	Rs. 15,273.00	Rs. 155.00	15 days.
8	Re-arrangement of sanitary system of one Unit 'D' type qtr No. 4 at R.S. Colony, Begunia.	Rs. 11,482.00	Rs. 115.00	10 days.
9	Repairing & maint. Of 1 (one) unit 'B' type qtr no. B/9 at R.S. Colony, Begunia.	Rs. 28,926.00	Rs. 290.00	15 days.
10	Repairing & maint of 1 (one) unit 'C' type qtr. No. C/7 at R.S. Colony, Begunia.	Rs. 15,653.00	Rs. 160.00	10 dyas.
11	Repairing & re-construction of collapsed compound wall of Rly. Siding road side of DOCP.	Rs. 51,088.00	Rs. 515.00	25 days.
12	Repairing & maint. Of 2 units CMWO type qtr at Manberia colony (6/6 & 6/7) at V. West colliery.	Rs. 27,233.00	Rs. 275.00	20 days.
13.	Providing hydrant including development work at Manberia Colony.	Rs. 39,450.00	Rs. 395.00	20 days.
14	Repairing & maint. Of 1 (one) unit qtr. No. 29/1-2 at Upper Dhowrah colony. V. West colliery.	Rs. 18,462.00	Rs. 185.00	10 days
15	Repairing & re- construction of drain near challa at Upper dhowrah of V. West colliery.	Rs. 10,467.00	Rs. 105.00	10 days.
16	Repairing & maint. Of challah at upper dhowrah of V. West colliery.	Rs. 38,817.00	Rs. 390.00	20 days.
17.	Cleaning U.G. reservoir with renovation of back wash arrangement at V. West treatment plant under C.V. Area.	Rs.15,000.00	Rs. 150.00	15 days.
18.	Roof repairing of 1 (one) unit 'D' type qtr No. D/1 at R.S. Colony, Begunia.	Rs. 9,140.00	Rs. 92.00	10 days.
19.	Repairing of canteen building at B. Mata. Colliery.	Rs. 28,003.00	Rs. 281.00	20 days.
20	Repairing & maint. Of 1 (one) unit CT Type qtr No. CT/8 at R.S. Colony, Begunia under C. V. Area.	Rs. 15,224.00	Rs. 155.00	15 days
21	Cleaning of debris near main gate of Area office.	Rs. 8,001.00	Rs. 80.00	5 Days.

1. Interested parties can collect the BOQ and other related papers of the Quotation from the office of the Area Civil Engineer, C.V. Area-XII, AT-Begunia, P.O -Barakar(W.B.). from 22.09.2011 to 26.09.2011 during office hours except Sunday and Holiday. BOQ and other relevant pages (Declaration & EFT form) can be down loaded from BCCL websitehttp://www.bccl.gov.in

2. Completed sealed Quotations will be received on 27.09.2011 up to 3.00 P.M. at the following places. Quotation may opt any one place to submit their quotation as per their convenience.

- In the office of the General Manager, C.V. Area-XII, AT-Begunia, P.O -Barakar(W.B.) i)
- ii) At BCCL H.Q. i.e. C.I.S.F. post, near Koyala Bhawan gate, Koyala Nagar, Dhanbad.

Office of the ACE, CCWO, W.W.Z. Area, Saraidhela, Dhanbad. iii)

iv)

 Office of the ACE, CHD, Jagjiban Nagar, Dhanbad.
 Quotations will be opened on 29.09..2011 at 11.30 A.M. in the office of the Area Civil Engineer, C.V. Area-XII, 3 AT-Begunia, P.O -Barakar(W.B.).

ContdP/2



- 4. Specification of work shall be governed by DSR-2007 & C.P.W.D specification.
- 5. Terms and conditions as per C.I.L. C.E. manual shall be applicable against the quotations submitted against this Quotation Notice.
- 6. Completed sealed Quotations shall consist of (1) EMD in the shape of cash receipt obtained from the finance deptt. C.V. Area-XII or DD from any Scheduled/Nationalised Bank, (2) Experience certificate, (3) Copy of Pan card, (4) Copy of VAT/Sales Tax clearance certificate along with VAT/Sales Tax registration No.(TIN), (5) Declaration and (6) EFT (Electronic Fund Transfer) & ECS (Electronic Clearance System) as per the format issued along with the Tender paper and (7) BOQ along with quoted rate by the Tenderer.
- 7. The quoted rate shall include all taxes and levies.
- 8. Statutory deductions for Income Tax and Sales Tax shall be made as per Rules and notifications.
- 9. The contractor has to abide by the Rules of Contract Labour Regulation & Abolition Act-.
- 10. Validity of tender shall be 120 days from the date of opening of the tender.
- 11. The contractors have to be acquainted with the site condition
- 12. Unless otherwise mentioned, no material will be issued by the department
- 13. Successful tender has to deposit 5% Performance Security (including 1% EMD) and another 5% Security Deposit will be deducted from the Running Account/ Final Bill.
- 14. The management of BCCL reserves right to reject any or all tender or split the work among two or more tenderers without assigning any reasons whatsoever.

Copy to :-

- 1) GM, Chanch Victoria Area-XII.
- 2) GM (Civil), BCCL, Koyla Nagar.
- 3) All CGM/GM of Areas/Projects under BCCL.
- 4) Addl. GM, Chanch Victoria Area-XII.
- 5) A.F.M., Chanch Victoria Area-XII.
- 6) All P.O.s of Chanch Victoria Area-XII.
- 7) Cashier, C.V. Area-XII
- 8) Incharge,, CISF Post, Koyala Bhawan gate, Koyala Nagar,
- 9) Assistant Commandant, CISF, C.V. Area-XII-with 2 copies of NIT for displaying on Notice Board.
- 10) Builders Association of India, Central Akashkinaree Kanta, Katras Garh, Dhanbad-828113.
- 11) ACE CCWO, W.W.Z Area saraidhela, Dhanbad.
- 12) ACE CHD, jagiban Nagar, Dhanbad
- 13 Notice Board.



Sd/-Area Civil Engineer Chanch Victoria Area-XII



CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Out side repairing of 1 (one) block 'B' type qtr No. 13,14,15 & 16 at R.S. Colony."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

SI.No.	Description of Item	Qty	Unit	Rate	Amount
1/	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine	86.00	Sam	67.65	5,817.90
13.1.2	sand).	86.00	Sqm	07.03	5,817.90
2/	18 mm cement plaster in two coats under layer 12				
13.11	mm thick cement plaster 1:5 (1 cement: 5 coarse	18.62	C ann	111.15	2 060 61
	sand) finished with a top layer 6 mm thick cement	18.02	Sqm	111.15	2,069.61
	plaster 1:6 (1 cement: 6 fine sand).				
3/	Providing and fixing on wall face unplasticised				
	Rigid PVC rain water pipes conforming to IS:				
	13592 Type A including jointing with seal ring				
	conforming to IS: 5382 leaving 10 mm gap for				
	thermal expansion. (i) single socketed pipes.				
12.40.2	i) 110 mm diameter.	6.09	Meter	163.40	915.10
12.40.1	ii) 75.00 mm diameter.	6.09	Meter	95.00	578.55
	Providing and fixing on wall face unplasticised -				
	PVC moulded fittings / accessories for				
	unplasticised Rigid PVC rain water pipes				
	conforming to IS: 13592 Type A including jointing				
4/	with seal ring conforming to IS: 5382 leaving 10				
	mm gap for thermal expansion.				
12.42.5.2	i) 110 mm shoe	4.00	Each	134.20	536.80
12.42.5.1	ii) 75 mm dia.	4.00	Each	88.40	353.60
5/	Structural steel work riveted, bolted or welded in				
10.2	built up section, trusses and framed work, including	42.51	Kg	46.35	1,970.33
	cutting, hoisting, fixing in position and applying a	42.31	ĸg	40.55	1,970.33
	priming coat of approved steel primer all complete:.				
6/	Providing and fixing P.V.C. sheet rough.	6.27	Sqm	514.89	3,228.36
A.R.		0.27	Sqiii	514.89	5,228.50
	Providing and fixing unplasticised – PVC pipe clips				
	of approved design to unplasticised- PVC rain				
	water pipes by means of 50x50x50mm hard wood				
	plugs, screwed with M.S. screws of required length				
	including cutting brick work and fixing in cement				
7/	mortar 1:4 (1 cement: 4 coarse sand) and making				
12.43.2	good the wall etc. complete;				
12.43.1	i) 110mm	4.00	Each	96.90	387.60
	ii) 75 mm	4.00	Each	79.50	318.00
8/	Colour washing such as green, blue of buff to give				
13.39.1	an even shade: New work (two or more coats) with	499.00	Sqm	9.30	4,640.70
	a base coat of white washing with lime.				
9/	Dismantling old plaster or skirting raking out joints				
15.56	and cleaning the surface for plaster including	25.00	Sqm	8.20	205.00
	diamonal of multiply to the dynaming around within	23.00	.oo Sqm	0.20	205.00
	disposal of rubbish to the dumping ground within 50 metres lead.				

BILL OF QUANTITY: (Sl. No. 1)

created with **nitro**PDF professional download the free trial online at <u>nitropdf.com/professional</u>

	-P/2-				
10/ 15.3	Demolishing R.C.C. work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.	0.50	Cum	537.55	268.77
	TOTAL			Rs.	21,290.32
			Say	Rs.	21,290.00

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Repairing & maint. Of stationary store at C.V. Area."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467

5. Details of E.M.D. No:

Rs.:

Date:

Date: 16.09.2011

BILL OF QUANTITY: (Sl. No.-2)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 12.24.1.1	Providing and fixing insulating board ceiling of approved quality with necessary nails etc. complete (frame work to be paid separately); 12 mm thick.	10.04	Sqm	311.40	3,126.45
2/ 9.3.1	Providing wood work in frames of false ceiling, partitions etc. sawn and put up in position. Sal wood.	0.05	Cum	29,107.80	1,455.39
3/ 11.3.1	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate.	36.02	Sqm	192.95	6,950.05
4/ 13.16.1	6mm cement plaster of mix: 1:3 (1 cement: 3 fine sand).	23.03	Sqm	62.15	1,431.31
5/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	99.49	Sqm	67.65	6,730.49
6/ 15.12.1	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 meters lead: of are 3 sq. metres and below.	1.00	Each	54.60	54.60
7/ 6.1.2 (A.R.)	Brick work in F.P.S bricks of class designation 50 in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand).	0.22	Cum	2,007.00	441.54
8/ 9.48.1	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. all complete: Fixed to steel windows by welding.	18.00	Kg	59.25	1,066.50
9/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	13.22	Sqm	22.85	302.07

Contd.....P/2



Annex-I

	thusush the Tender decuments 9 clemen		Say	Rs.	29,777.00
	TOTAL			Rs.	29,776.76
15/ M.R.	Providing bulb of all.	4.00	Each	12.00	48.00
14/ A.R.	Providing and fitting Tube light set.	6.00	Each	350.00	2,100.00
13/ 2.21.1 CUBTPN	S/F TP& FSU in cubicle panel board: Providing and fixing following capacity TP & N disconnect or fuse switch unit inside the existing cubicle panel board with ISI marked HRC fuses including drilling holes in cubicle panel, making connections, etc. as required. 32 Amp TP & N	1.00	Each	768.00	768.00
12/ 1.8.1 WGPVCPT	Point wiring in PVC conduit, with piano type switch: wiring for light point/ fan point/ exhaust fan point/call bell point with 1.5 sq.mm FR PVC insulated copper conductor single core cable in surface /recessed PVC conduit, with piano type switch, phenolic laminated sheet, suitable size M.S. box and ear thing the point with 1.5 sq.mm. FR PVC insulated copper conductor single core cable etc as required. Group A	15.00	Point	264.00	3960.00
11/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer-in-charge. 1:3:6 or richer mix.	1.36	Cum	368.45	501.09
10/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	205.19	Sqm	4.10	841.27

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Miscellaneous jobs at Begunia Dispensary under C.V. Area."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/14675. Details of E.M.D. No:Rs.:

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 3)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 2.8.1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kind of soil.	2.29	Cum	103.40	236.78
2/ 4.1.8	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering – All work up to plinth level:1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	0.30	Cum	2,449.00	734.70
3/ 6.1.2 (A.R.)	Brick work in F.P.S bricks of class designation 50 in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand).	1.45	Cum	2,007.00	2,910.15
4/ 6.12.2	Half brick masonry with F.P.S.CD 50 brick of class designation in foundations and plinth in . cement mortar 1:4 (1 cement: 4 coarse sand).	9.47	Sqm	257.25	2,436.25
5/ 6.13.2	Half brick masonry with F.P.S bricks of class designation 50 in superstructure above plinth level up to floor V level Cement mortar 1:4 (1 cement: 4 coarse sand)	3.98	Sqm	273.45	1,088.33
6/ 10.3	Providing and fixing in position collapsible steel shutters with vertical channels 20x10x2 mm and braced with flat iron diagonals 20x5mm size with top and bottom railof T-iron 40x40x6mm with 40 mm dia, steel pulleys complete with bolts, nuts, locking arrangement, stoppers, handles, including applying a priming coat of approved steel primer.	3.70	Sqm.	2,592.70	9,592.99
7/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	58.13	Sqm	67.65	3,932.49
8/ 10.12.3 (SOR- 2002)	Providing and fixing ISI marked steel glazed doors, windows and ventilators of standard rolled steel sections, joints mitred and welded with 15x3mm lugs, 10cm long, embedded in cement concrete blocks 15x10x10 cm of 1:3:6 (Icement: 3 coarse sand :6 graded stone aggregate 20 mm nominal size) or with wooden plugs and screws or rawl plugs and screws or with fixing clips or plugs and screws or rawl plugs and screws or with fixing of glass panes with glazing clips and special metal sash putty of approved make complete including applying a priming coat of approved steel primer: excluding the cost of metal beading and other fitting except necessary hinges or pivots as required. Windows-side hung.	7.71	Sqm	1,065.75	8,216.93
9/ 15.12.1	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 meters lead: of are 3 sq. metres and below.	5.00	Each	54.60	273.00
10/ 14.5.1	Renewing glass panes, with putty and nails wherever necessary: float glass panes of thickness 4 mm.	0.40	Sqm	427.60	171.04
14.3.1 11/ 18.12.3	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. 25 mm dia nominal bore.	48.76	Meter.	156.85	7,648.00

Contd.....P/2



	-P/2-				
12/ 18.10.1	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, including cutting and making good the walls etc. 15 mm dia nominal bore.	6.09	Metre.	105.85	644.62
13/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	40.00	Sqm	4.10	164.00
14/ 13.39.1	Colour washing such as green, blue of buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime.	150.00	Sqm	9.30	1,395.00
15/ 18.46.3	Providing and fixing G.I. Union in G.I. pipe including cutting and threading the pipe and making long screws etc .complete (New work).25 mm nominal bore.	2.00	Each	107.25	214.50
16/ 18.17.1	Providing and fixing un metal gate valve with C.I. wheel of approved quality (screwed end): 25 mm nominal bore.	1.00	Each	285.50	285.50
17/ 13.16.1	6mm cement plaster of mix: 1:3 (1 cement: 3 fine sand).	1.50	Sqm	62.15	93.22
18/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	7.71	Sqm	22.85	176.17
	TOTAL		Say	Rs. Rs.	40,213.67 40,214.00

I / we quote ____% (______) above / below the estimated cost. Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-





P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Roof repairing with bitumen paint of Begunia dispensary."

2. Name of Tenderer :

3. Address:

4. NIT No.: BCCL/XII/ACE/QTN/2011-12/38/1467 Date: 16.09.2011 5. Details of E.M.D. No: Rs.: Date:

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 12.15.1	Painting top of roofs with bitumen of approved quality at 17kg per 10sqm impregnated with a coat of coarse sand at 60 cudm per 10sqm including cleaning the slab surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil complete: with residual type petroleum bitumen of penetration 80/100	179.10	Sqm	63.00	11,283.30
2/ 22.14.2	Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand)	0.10	Cum	5,045.35	504.53
3/ 0115	Labour for cleaning of roof	2.00	Each	135.25	270.50
	Total			Rs.	12,058.33
			Say	Rs.	12,05800

BILL OF QUANTITY (Sl. No. 4)

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

Name of Work: "Renovation of old club house convert to transformer room at Manberia of V. West colliery" 2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.:

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 5)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 15.12.1	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 meters lead: of are 3 sq. metres and below.	2.00	Each	54.60	109.20
2/ 14.2.1	Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 Cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size). Painting two coats of approved wood preser4vative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50 meters lead: Door chowkhats.	2.00	Each	354.45	768.90
3/ 2.25	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift up to 1.5 m.	1.17	Cum	45.70	53.46
4/ A.R.	Providing and laying single layer brick flat soling CD. 50	68.79	Sqm	111.09	7,641.88
5/ 15.7.4	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 meter lead as per direction of Engineer-in-charge. In cement mortar	5.26	Cum	310.75	1,634.54
6/ 10.32.5 '2002'	Providing and fitting steel vantlator of all.	4.45	Sqm	1,070.020	4,762.39
7/ 10.2	Structural steel work riveted, bolted or welded in built up section, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete:.	200.00	Kg	46.35	9,270.00
8/ 4.1.3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering – All work up to plinth level: 1:2.4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	2.77	Cum	3,257.45	9,023.13
9/ 13.18	Neat cement punning.	30.70	Sqm	21.40	656.98

Contd...P/2



10/			1		
10/ 6.1.2	Brick work in F.P.S bricks of class designation 50	0.91	Cum	2 007 00	1 926 27
	in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand).	0.91	Cum	2,007.00	1,826.37
(A.R.) 11/	12 mm cement plaster finished with a floating coat				
11/ 13.7.2	of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	0.75	Sqm	97.90	73.42
13.7.2	Half brick masonry with F.P.S.CD 50 brick of class				
6.12.2	designation in foundations and plinth in . cement	4.45	Sqm	257.25	1,144.76
0.12.2	mortar 1:4 (1 cement: 4 coarse sand).	4.43	Sqiii	237.23	1,144.70
13/	Half brick masonry with F.P.S bricks of class				
6.13.2	designation 50 in superstructure above plinth level				
0.13.2	up to floor V level Cement mortar 1:4 (1 cement: 4	4.45	Sqm	273.45	1,216.85
	coarse sand)				
14/	Brick work in F.P.S bricks of class designation 50				
6.1.2	in foundation and plinth in: Cement mortar 1:6 (1	0.077	Cum	2,007.00	154.53
(A.R.)	cement: 6 coarse sand).	0.077	Cum	2,007.00	154.55
15/	Brick work in F.P.S. bricks of class designation 50				
6.4.2	in superstructure above plinth level up to floor V				
(A.R.)	level in all shapes and sizes in : cement mortar 1:6	0.077	Cum	2,137.95	164.62
(A.K.)	(1 cement : 6 coarse sand).				
16/	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine				
13.1.2	sand).	82.13	Sqm	67.65	5,556.09
13.1.2	Painting with synthetic enamel paint of approved				
13.61.1	brand and manufacture to give an even shade: Two	17.53	Sqm	35.35	619.68
13.01.1	or more coats on new work.	17.33	Squi	55.55	019.00
18/	Structural steel work in single section fixed with or				
10/	without connecting plate including cutting,				
10.1	hoisting, fixing in position and applying a priming	77.44	Kg	42.15	3,264.09
	coat of approved steel primer all complete.				
19/	Providing corrugated G.S. sheet roofing including				
12.1.3	vertical / curved surface fixed with polymer coated				
12.1.0	J or L hooks, bolts and nuts 8 mm diameter with				
	bitumen and G.I. limpet washers or with G.I. limpet				
	washers filled with white lead and including a coat				
	of approved steel primer and two coats of approved				
	paint on overlapping of sheets complete (up to any	2.09	Sqm	432.25	903.40
	pitch in horizontal / vertical or curved surfaces)				
	excluding the cost of purlins, rafters and trusses and				
	including cutting to size and shape wherever				
	including cutting to size and shape wherever required. 0.63 mm thick with zinc coating not less				
	required. 0.63 mm thick with zinc coating not less than 275gm/ m2				
20/	required. 0.63 mm thick with zinc coating not less than 275gm/ m2	5 40		72.65	402.00
20/ 12.11	required. 0.63 mm thick with zinc coating not less	5.48	Metre	73.65	403.60
	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section.				
12.11	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6	5.48	Metre	73.65	403.60
12.11 21/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with				
12.11 21/ 22.14.2	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand)				
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing				
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or				
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of				
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg				6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second				
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but excluding grading complete with Bitumen felt	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade 1 conforming to IS: 1322.	1.29	Cum Sqm	5,045.35	6,508.50
12.11 21/ 22.14.2 22/ 22.8.1	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade 1 conforming to IS:	1.29	Cum	5,045.35	6,508.50
12.11 21/ 22.14.2 22/ 22.8.1 23/	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade 1 conforming to IS: 1322. White washing with lime to give an even shade:	1.29	Cum Sqm	5,045.35	6,508.50
12.11 21/ 22.14.2 22/ 22.8.1 23/ 13.37.1	required. 0.63 mm thick with zinc coating not less than 275gm/m2 Extra for providing and fixing wind ties of 40x6 mm flat iron section. Grading roof for water proofing treatment with cement concrete 1:3(1 cement: 3 coarse sand) Providing and laying four courses water proofing treatment with bitumen felt over roofs consisting of first and third courses of blown bitumen 85/25 or 90/15 conforming to IS :702 applied hot @ 1.45 kg per square metre of area for each course, second course of roofing felt type 3 grade-1 (Hessian based self finished bitumen felt) and fourth and final course of stone grit 6 mm and down size or pea- sized gravel spread at 6 cubic diameter per square metre including preparation of surface but excluding grading complete with Bitumen felt (Hessian base) type 3 grade 1 conforming to IS: 1322. White washing with lime to give an even shade: New work (three or more coats)	1.29	Cum Sqm	5,045.35	6,508.50

Contd....P/3



			Sav	Rs.	69,535.00
	TOTAL			Rs.	69,534.63
27/ 12.40.2	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS : 5382 leaving 10 mm gap for thermal expansion. (i) single socketed pipes. 110 mm diameter.	6.00	Metre	163.40	980.40
26/ 2.27	Supplying and filling in plinth with jamuna sand under floors including, watering, ramming consolidating and dressing complete.	1.41	Cum	301.50	425.11
25/ 2.6.1	Earth work in excavation by mechanical means (Hydraulic excavator)/ manual means over areas (exceeding 30 cm in depth. 1.5m in width as well as 10sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be leveled and neatly dressed. All kinds of soil.	8.73	Cum	101.85	889.15

 Say
 Rs.
 69,535.00

 Having gone through the Tender documents & elements of work in the bill of quantity :

I / we quote ____% (______) above / below the estimated cost. Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-4-



-P/3-



OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Repairing & maint. Of 1 (one) room at School building Begunia."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.:

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 6)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/	Structural steel work riveted, bolted or welded in				
10.2	built up section, trusses and framed work,				
	including cutting, hoisting, fixing in position and	245.00	Kg	46.35	11,355.75
	applying a priming coat of approved steel primer		_		
	all complete:.				
2/	Providing and fixing M.S. grills of required				
9.48.1	pattern in frames of windows etc. with M.S. flats,	120.00	V	59.25	7 1 1 0 0 0
	square or round bars etc. all complete: Fixed to	120.00	Kg	39.23	7,110.00
	steel windows by welding.				
	Fixing chowkhats in existing opening including				
	embedding chowkhats in floors or walls cutting				
	masonry for holdfasts embedding hold fasts in				
	cement concrete blocks with cement concrete				
	1:3:6 (1 Cement: 3 coarse sand: 6 graded stone				
	aggregate 20 mm nominal size). Painting two				
	coats of approved wood preser4vative to sides of				
	chowkhats and making good the damages to				
3/	walls and floors as required complete including				
	disposal of rubbish to the dumping ground within				
14.2.1	50 meters lead:	1.00	Each	354.45	354.45
14.2.2	i) Door chowkhats.	5.00	Each	214.20	1,071.00
	ii) Window chokhats.				
4/	Providing and fixing glass strips in joints of				
11.13.1	terrazzo / cement concrete floors. 40 mm wide	26.13	Metre	17.60	459.88
	and 4 mm thick.				
5/	Providing and laying in position cement concrete				
4.1.3	of specified grade excluding the cost of centering				
	and shuttering – All work up to plinth level: 1:2.4	2.18	Cum	3,257.45	7,101.24
	(1 cement: 2 coarse sand: 4 graded stone				
	aggregate 20 mm nominal size).				
6/	Dismantling doors, windows and clerestory				
15.12.1	windows (steel or wood) shutter including				
	chowkhats, architrave, holdfasts etc. complete	6.00	Each	54.60	327.60
	and stacking within 50 meters lead: of are 3 sq.				
	metres and below.				
7/	12 mm cement plaster of mix: 1:6 (1 Cement: 6	34.80	Sqm	67.65	2,354.22
13.1.2	fine sand).	34.00	Squi	07.05	2,334.22
8/	18 mm cement plaster in two coats under layer 12				
13.11	mm thick cement plaster 1:5 (1 cement: 5 coarse	2.43	Sam	111.15	270.09
	sand) finished with a top layer 6 mm thick	2.43	Sqm	111.13	270.09
	cement plaster 1:6 (1 cement: 6 fine sand).				

Contd....P/2



			Say	Rs.	48,186.00
	TOTAL			Rs.	48,186.00
	PVC conduit as required. 2x4 sq, nn + 1x4 sq, nn earth woire.				
1.14.3 WGPVCSB	for circuit/ submain wiring along with earth wire with the following size of PVC insulated copper conductor, singles core cable insurface/ recessed	30.00	Meter	97.00	2,910.00
13.39.1 23/	give an even shade: New work (two or more coats) with a base coat of white washing with lime. Circuit /sub main wiring in PVC conduit: wiring	58.27	Sqm	9.30	541.91
22/ 13.41.1 22/	of approved brand and manufacture to give an even shade. New work (two or more coats) over and including priming coat with cement primer. Colour washing such as green, blue of buff to	85.45	Sqm	41.55	3,550.44
20/ 14.42.1 21/	White washing with lime to give an even shade: Old work (two or more coats). Distempering with oil bound washable distemper	79.37	Sqm	4.10	325.41
19/ 13.18	Neat cement punning.	36.37	Sqm	21.40	778.31
18/ 5.18.2	Providing precise cement concrete jail 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 6mm nominal size) reinforced with 1.6mm dia mild steel wire including centering and shuttering, roughening cleaning, fixing and finishing in cement mortar 1:3 (1 cement: 3 fine sand) etc. complete excluding plastering of the jambs, sills and soffits. 40 mm thick.	0.31	Sqm	359.25	94.25
17/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer-in-charge. 1:3:6 or richer mix.	1.38	Cum	368.45	508.46
16/ 6.4.2 (A.R.)	Brick work in F.P.S. bricks of class designation 50 in superstructure above plinth level up to floor V level in all shapes and sizes in : cement mortar 1:6 (1 cement : 6 coarse sand).	1.12	Cum	2,137.95	2,394.50
15/ 6.1.2 (A.R.)	Brick work in F.P.S bricks of class designation 50 in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand).	0.89	Cum	2,007.00	1,786.23
14/ 13.61.1	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade: Two or more coats on new work.	42.00	Sqm	35.35	1,484.70
13/ 2.21.1 CUBTPN	S/F TP& FSU in cubicle panel board: Providing and fixing following capacity TP & N disconnect or fuse switch unit inside the existing cubicle panel board with ISI marked HRC fuses including drilling holes in cubicle panel, making connections, etc. as required. 32 Amp TP & N	1.00	Each	768.00	768.00
12/ 1.8.1 WGPVCPT	Point wiring in PVC conduit, with piano type switch: wiring for light point/ fan point/ exhaust fan point/call bell point with 1.5 sq.mm FR PVC insulated copper conductor single core cable in surface /recessed PVC conduit, with piano type switch, phenolic laminated sheet, suitable size M.S. box and ear thing the point with 1.5 sq.mm, FR PVC insulated copper conductor single core cable etc as required. Group A i) 3 phase plug point.	8.00 2.00	Point point	264.00 264.00	2,112.00 628.00

I / we quote ____% (______) above / below the estimated cost.

Our quoted offer amounts to Rs. _____ (Rupees____

) including the above percentage.

-2-

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Repairing & maint. 1 (one) unit 'C' type qtr no. C/9 at R.S. Colony. Begunia.."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.:

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 7)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 17.18.1	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures complete. 10 litre capacity- White.	1.00	Each	709.75	709.75
2/ 17.7.2	Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: White Vitreous china wash basin size 630x450 mm with a single 15 mm C.P. brass pillar tap.	2.00	Each	1,201.70	2,403.40
3/ 17.28.1.1	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. 32 mm dia.	1.00	Each	42.15	42.15
4/ 18.16.1	Providing and fixing brass stop cock of approved quality. 15 mm nominal bore.	2.00	Each	191.70	383.40
5/ 18.10.1	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, including cutting and making good the walls etc. 15 mm dia nominal bore.	3.04	Metre.	105.85	321.78
6/ 11.3 A.R.	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat sement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25 mm thick with 12.5 mm nominal size stone aggregate.	3.83	Sqm	143.75	550.56
7/ 17.31	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. bras screws and washers complete.	1.00	Each	493.65	493.65
8/ 9.1.3	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position. Kiln seasoned and chemically treated Hollock wood.	0.054	Cum	31,339.40	1,692.32
9/ 9.53	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embeddings in cement concrete block 30x10x15cm 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).	9.00	Each	61.50	553.50
10/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	115.16	Sqm	4.10	472.15

Contd....P/2



	-P/2-				
11/ 14.45.1	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade: old work (one or more coats).	212.83	Sqm	14.90	3,171.16
12/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	75.00	Sqm	22.85	1,713.75
13/ 6.12.2	Half brick masonry with F.P.S.CD 50 brick of class designation in foundations and plinth in . cement mortar 1:4 (1 cement: 4 coarse sand).	5.95	Sqm	257.25	1,530.63
14/ 13.7.2	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	12.61	Sqm	97.90	1,234.51
	TOTAL			Rs.	15,272.71
			Say	Rs.	15,273.00

I / we quote _____% (_______) above / below the estimated cost.

Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Re-arrangement of sanitary system of one Unit 'D' type qtr No. 4 at R.S. Colony, Begunia."

2. Name of Tenderer :

3. Address:

Sl.No.

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 Date: 16.09.2011 5. Details of E.M.D. No: Rs.: Date:

Description of Item

1/ Cleaning of septic tank. 1.00 Each 1000.00 1000.00 M.R. Brick work in F.P.S bricks of class designation 50 2/ 6.1.2 in foundation and plinth in: Cement mortar 1:6 (1 1.02 2,007.00 2,047.14 Cum (A.R.) cement: 6 coarse sand). Structural steel work riveted, bolted or welded in 3/ 10.2 built up section, trusses and framed work, including 50.00 46.35 2,317.50 Kg cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete:. 4/ Fixing chowkhats in existing opening including 14.2.1 embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 Cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size). Painting two coats of 1.00 Each 354.45 354.45 approved wood preser4vative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish

BILL OF QUANTITY (Sl. No. 8)

Qty

Unit

Rate

Amount

	to the dumping ground within 50 meters lead: Door				
	chowkhats				
-					
5/	Providing and fixing on wall face unplasticised				
12.40.2	Rigid PVC rain water pipes conforming to IS:				
	13592 Type A including jointing with seal ring	6.70	Metre	163.40	1,094.78
	conforming to IS: 5382 leaving 10 mm gap for				-,
	thermal expansion. (i) single socketed pipes. 110				
	mm diameter.				
6/	Providing and fixing white viteous china pedestal				
17.2.1	type water closet (European type W.C. pan) with				
	seat and lid, 10 litre low level white P.V.C flushing				
	cistern with manually controlled device (handle	1.00	Each	2 1 5 2 5 0	2 152 50
	lever). Conforming to IS: 7231, with all fittings and	1.00	Each	2,152.50	2,152.50
	fixtures complete including cutting and making				
	good the walls and floors, wherever required: W.C.				
	pan with ISI mrked white solid plastic seat and lid.				
7/	Providing and fixing G.I. pipes complete with G.I.				
18.10.1	fittings and clamps, including cutting and making	3.04	Metre.	105.85	321.78
	good the walls etc. 15 mm dia nominal bore.				
8/	Providing and fixing wash basin with C.I. brackets,				
17.7.2	15 mm C.P. brass pillar taps, 32mm C.P. brass				
	waste of standard pattern, including painting of				
	fittings and brackets, cutting and making good the	1.00	Each	1,201.70	1,201.70
	walls wherever require: White Vitreous china wash	1.00	Lach	1,201.70	1,201.70
	basin size 630x450 mm with a single 15 mm C.P.				
	brass pillar tap.				
1	Diass piliai tap.	1	1		

Contd....P/2



9/	Providing and fixing PTMT pillar cock of approved				
18.56.1	quality and colour. 15 mm nominal bore, 107 mm	1.00	Each	185.25	185.25
	long. Weighing not less than 110 gms.				
10/	Providing and fixing brass stop cock of approved	2.00	Each	191.70	383.40
18.16.1	quality. 15 mm nominal bore.	2.00	Each	191.70	363.40
11/	Providing and fixing uplasticised PVC connection	2.00	Each	44.75	89.50
18.21.2.1	pipe with brass unions: 15 mm nominal bore.	2.00	Each	44.75	89.50
12/	12 mm cement plaster finished with a floating coat	3.41	Sqm	97.90	333.83
13.7.2	of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	5.41	Sqiii	97.90	
	TOTAL			Rs.	11,481.83
			Say	Rs.	11,482.00

I / we quote ____% (______) above / below the estimated cost.

Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Repairing & maint. Of 1 (one) unit 'B' type qtr no. B/9 at R.S. Colony, Begunia."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 Date: 16.09.2011 5. Details of E.M.D. No: Rs.: Date: Date:

BILL OF QUANTITY (Sl. No. 9)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 13.7.2	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	20.03	Sqm	97.90	1,960.93
2/ 11.3 A.R.	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat sement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25 mm thick with 12.5 mm nominal size stone aggregate.	40.00	Sqm	143.75	5,750.00
3/ 10.2	Structural steel work riveted, bolted or welded in built up section, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete:.	136.78	Kg	46.35	6,339.75
4/ 9.1.3	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position. Kiln seasoned and chemically treated Hollock wood.	0.074	Cum	31,339.40	2,319.11
5/ 9.53	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embeddings in cement concrete block 30x10x15cm 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).	12.00	Each	61.50	738.00
6/ A.R.	Providing and fixing PVC pipe 15 mm dia nominal bore.	12.19	Metr	64.42	785.27
7/ M.R.	Providing fixing PVC tap of all	1.00	Each	25.00	25.00
8/ 5.12	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses, bands copings, bed plates, anchor blocks, plain window sills and the like including the cost of required centering, shuttering, finishing smooth with 6 mm thick cement plaster 1:3 (1 cement: 3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement : 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	0.029	Cum	4,880.15	141.52
9/ 5.22.3	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete . Cold twisted bars.	2.37	K.G.	42.70	101.19
10/ 6.12.2	Half brick masonry with F.P.S.CD 50 brick of class designation in foundations and plinth in . cement mortar 1:4 (1 cement: 4 coarse sand).	3.01	Sqm	257.25	774.32

Contd....P/2



	-P/2-				
11/ A.R	Providing and laying single layer B.Flat soling CD.50	2.41	Sqm	111.09	267.72
12/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	66.76	Sqm	67.65	4,516.31
13/ 18.13.1	Making connection of G.I. distribution branch with G.I. main of following sized by providing and fixing tee, including cutting and threading the pipe etc. complete: 25 to 40 mm nominal bore.	1.00	Each	166.05	166.05
14/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	0.48	Cum	368.45	176.85
15/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	400.00	Sqm	4.10	1,640.00
16/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	102.92	Sqm	22.85	2,351.72
17/ 15.12.1	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 meters lead: of are 3 sq. metres and below.	3.00	Each	54.60	163.80
18/ 14.2.1	Fixing chowkhats in existing opening including embedding chowkhats in floors or walls cutting masonry for holdfasts embedding hold fasts in cement concrete blocks with cement concrete 1:3:6 (1 Cement: 3 coarse sand: 6 graded stone aggregate 20 mm nominal size). Painting two coats of approved wood preser4vative to sides of chowkhats and making good the damages to walls and floors as required complete including disposal of rubbish to the dumping ground within 50 meters lead: Door chowkhats.	2.00	Each	354.45	708.90
	TOTAL			Rs.	28,925.69
			Say	Rs.	28,926.00

I / we quote ____% (______) above / below the estimated cost.
Our quoted offer amounts to Rs. _____ (Rupees ______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1 .Name of Work: "Repairing & maint of 1 (one) unit 'C' type qtr. No. C/7 at R.S. Colony, Begunia."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 Date 5. Details of E.M.D. No: Rs.: Date

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 10)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 9.66.2	Providing and fixing ISI marked oxidized M.S. handles conforming to IS: 4992 with necessary screws etc. complete: 100 mm	8.00	Each	7.75	62.00
2/ 9.55.3	Providing and fixing ISI marked M.S. pressed butt hinges bright finished with necessary screws etc. complete: 75x47x1.70mm.	4.00	Each	9.55	38.20
3/ 9.63.3	Providing and fixing ISI marked oxidized M.S. tower bolt black finish, (Barrel type) with necessary screqws etc. complete: 150x10 mm	5.00	Each	23.40	117.00
4/ 9.40.2.1	Providing and fixing wooden moulded beading to door and window frames with iron screws, plugs and priming coat on unexposed surface etc. complete: 50x12 mm	16.00	Meter	40.05	640.80
5/ 12.40.2	Providing and fixing on wall face unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS : 5382 leaving 10 mm gap for thermal expansion. (i) single socketed pipes. 110 mm diameter.	1.82	Metre	163.40	297.38
6/ 12.42.5.2	Providing and fixing on wall face unplasticised – PVC moulded fittings / accessories for unplasticised Rigid PVC rain water pipes conforming to IS: 13592 Type A including jointing with seal ring conforming to IS: 5382 leaving 10 mm gap for thermal expansion. 110mm bend.	1.00	Each	134.20	134.20
7/ 18.10.3 18.10.1 8/ 18.46.3	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, including cutting and making good the walls etc. 25 mm dia nominal bore. i) 25 mm dia nominal bore ii) 15 mm dia nominal bore. Providing and fixing G.I. Union in G.I. pipe including cutting and threading the pipe and making long screws etc .complete (New work).25 mm nominal bore.	7.16 1.50 2.00	Meter Meter Each	179.65 105.85 107.25	1,286.29 158.77 214.50
9/ M.R 10/	Providing and fixing plastic bib cock 15 mm dia nominal bore. Providing and fixing plug 25 mm dia nominal bore.	1.00	Each	25.00	25.00
1555/280	rottang and tixing plug 25 min did tollind bole.	1.00	Each	5.00	5.00
11/ 18.56.1	Providing and fixing PTMT pillar cock of approved quality and colour. 15 mm nominal bore, 107 mm long. Weighing not less than 110 gms.	2.00	Each	185.25	370.50
12/ 17.28.1.2	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings complete. 40 mm dia.	3.00	Each	47.95	143.85

Contd...P/2



-P/2-

	iono through the Tender documents & element		Say	Rs.	15,653.00
	TOTAL			Rs.	15,653.07
	20 mm nominal size).				
	bolts, nuts and wooden plugs and embeddings in cement concrete block 30x10x15cm 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate	12.00	Each	61.50	738.00
22/ 9.53	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter				
21/ 9.1.2	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position. Sal wood	0.076	Cum	30,511.90	2,318.90
20/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	101.51	Sqm	22.85	2,319.50
19/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	114.08	Sqm	4.10	467.72
18/ 14.45.1	Distempering with oil bound washable distemper of approved brand and manufacture to give an even shade: old work (one or more coats).	212.83	Sqm	14.90	3,171.16
17/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	23.00	Sqm	67.65	1,555.95
16/ 18.13.1	Making connection of G.I. distribution branch with G.I. main of following sized by providing and fixing tee, including cutting and threading the pipe etc. complete: 25 to 40 mm nominal bore.	3.00	Each	166.05	498.15
15/ 0111 0115	Engaging carpenter for adjusting door window. i) carpenter ii) helper	2.00 2.00	Each Each	151.50 135.25	303.00 270.50
14/ 13.16.1	6mm cement plaster of mix: 1:3 (1 cement: 3 fine sand).	8.00	Sqm	62.15	497.20
13/ M.R.	Providing and fixing C.I. jail of all	2.00	Each	10.00	20.00

I / we quote ____% (______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees______

) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Repairing & re-construction of collapsed compound wall of Rly. Siding road side of DOCP."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 11)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/	Earth work in excavation by mechanical means				
2.6.1	(Hydraulic excavator)/ manual means over areas				
	(exceeding 30 cm in depth. 1.5m in width as well as				
	10sqm on plan) including disposal of excavated	8.49	Cum	101.85	864.70
	earth, lead up to 50m and lift up to 1.5m, disposed				
	earth to be leveled and neatly dressed. All kinds of				
	soil.				
2/	Providing and laying in position cement concrete of				
4.1.9	specified grade excluding the cost of centering and				
	shuttering – All work up to plinth level: 1:4:8 (1	1.12	Cum	2,296.15	2,572.02
	cement: 4 fine sand: 8 graded stone aggregate 40				
	mm nominal size).				
3/	Brick work in F.P.S bricks of class designation 50				
6.1.2	in foundation and plinth in: Cement mortar 1:6 (1	14.53	Cum	2,007.00	29,161.71
(A.R.)	cement: 6 coarse sand).				
4/	Brick work in F.P.S. bricks of class designation 50				
6.4.2	in superstructure above plinth level up to floor V	6.87	Cum	2,137.95	14,687.72
(A.R.)	level in all shapes and sizes in : cement mortar 1:6	0.07	Cum	2,157.95	14,007.72
	(1 cement : 6 coarse sand).				
5/	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine	122.63	Sqm	67.65	8,295.91
13.1.2	sand).	122.05	Sqiii	07.05	0,275.71
6/	Colour washing such as green, blue of buff to give				
13.39.2	an even shade: New work (two or more coats) with	122.63	Sqm	9.10	1,115.93
	a base coat of whiting.				
	Less cost of old Bricks (-)	3300.00	Nos.	@1,700%	5,610.00
	TOTAL			Rs.	51,087.90
			Say	Rs.	51,088.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote _____% (_______) above / below the estimated cost.

Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Repairing & maint. Of 2 units CMWO type qtr at Manberia colony (6/6 & 6/7) at V. West colliery"

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 Date: 16.09.2011 5. Details of E.M.D. No: Rs.: Date:

BILL OF QUANTITY (Sl. No. 12)

					ion of				Qty	U	nit	R	ate	4	Amount
gra coa it ex . 25	4 gra ng co , but e	aded oat o exclu 25 mr	ston of ne ding m thi	ne ag eat s the	ggrega semen cost o	ate) fint incl at include	ement:2 inished luding of ng of ste m nomin	with a cement eps etc.	51.09	So	ļm	143	3.75	7	,344.18
g an or c IS ith	ling a rs for ling I s with	nd fi door SI n n nec	xing s, wi narke cessar	indov ed b ry so	ws and lack crews	d clere ename exclu	eled and estory wi eled M.S iding, pa 30 mm	indows S. butt aneling	1.67	So	Įm	810	0.90	1	,354.20
ecti iois	ip sect g, hoi	tion, isting	truss , fixi	ses a ing i	nd fra in pos	amed v sition a	d or wel vork, inc and appl r all corr	luding lying a	120.00	К	g	46	5.35	5	,562.00
ng for onc nt: 3 no wc ng ed o	Iding nry fo nt cone ment: im no ved we naking uired	chov or ho crete 3 co omin vood j g goo com	wkha oldfa: bloc arse al si prese od the plete	ats in sts of cks v sand size). er4va e da e inc nd w Do	n floo embed with c l: 6 gr Pair ative t mages luding ithin 5	ors or dding ement raded s nting to side s to w g dispo 50 met owkha	ning inc walls hold fa concrete stone agg two co s of chov alls and osal of r ters lead	cutting asts in e 1:3:6 gregate ats of wkhats floors rubbish	1.00 3.00	Each	-	354.4 2142		354 642	
uat		and f	; pan	n (Ir	ndian		s china Long		1.00	Each	1	534.6		534	
g ar ewe ver nd 1 S &	ling a screw ut ve g and on S &	and f ved o ent a mak & S a	ixing down arm ing g as per	g traj n or com good r IS:	p of s hing plete, the w 1729.	ged gr , inclu valls a:	eansing rating w uding c nd floor	vith or ost of s: sand	1.00	Ea	ıch	442	2.10	2	442.10
s o		of st	tanda	ard	patteri		vitreous squattir		1.00	Pa	air	11	1.70	1	111.70
	ding A				-				2.22	Se	ļm	26	6.60	4	591.85
eme	n cem	ent p	olaste	er of	mix:	1:6 (1	Cement	: 6 fine	30.47	Se	ļm	67	.65	2	,061.29
	n cem				-	1:6 (1	Cement	: 6 fine	-			Sqm Sqm		Sqm 67.65	



	-P/2-				
10/ M.R	Cleaning septic tank.	1.00	Each	1,000.00	1,000.00
11/ 5.12	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses, bands copings, bed plates, anchor blocks, plain window sills and the like including the cost of required centering, shuttering, finishing smooth with 6 mm thick cement plaster 1:3 (1 cement: 3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	0.31	Cum	4,880.15	1,512.84
12/ 5.22.3	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete . Cold twisted bars.	26.00	K.G.	42.70	1,110.20
13/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	330.00	Sqm	4.10	1,353.00
14/ 13.39.1	Colour washing such as green, blue of buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime.	130.00	Sqm	9.30	1,209.00
15/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	70.00	Sqm	22.85	1,599.50
16/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	1.22	Cum	368.45	449.50
	TOTAL			Rs.	27,233.01
			Say	Rs.	27,233.00

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

Name of Work:" Providing hydrant including development work at Manberia Colony."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 13)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 18.12.8	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. 80 mm dia nominal bore.	18.51	Meter.	458.15	8,480.35
2/ 18.13.2	Making connection of G.I. distribution branch with G.I. main of following sized by providing and fixing tee, including cutting and threading the pipe etc. complete: 50 to 80 mm nominal bore.	2.00	Each	423.20	846.40
3/ 18.12.7	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. 65 mm dia nominal bore.	0.91	Meter.	356.15	324.09
4/ M.R	Providing and fixing rubber hose of all.	1.50	Meter	100.00	150.00
5/ 2.8.1	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m. All kind of soil.	1.09	Cum	103.40	112.70
6/ 6.1.2 (A.R.)	Brick work in F.P.S bricks of class designation 50 in foundation and plinth in: Cement mortar 1:6 (1 cement: 6 coarse sand).	5.18	Cum	2,007.00	10,396.26
7/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	26.53	Sqm	67.65	1,794.75
8/ A.R.	Providing and laying single layer Brick flat soling CD 50	6.59	Sqm	111.09	732.08
9/ 11.3 A.R.	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat sement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25 mm thick with 12.5 mm nominal size stone aggregate.	6.59	Sqm	143.75	947.31
10/ 2.6.1- 2.36	Earth work in excavation by mechanical means (Hydraulic excavator)/ manual means over areas (exceeding 30 cm in depth. 1.5m in width as well as 10sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be leveled and neatly dressed. All kinds of soil.	99.00	Cum	(101.85- 13.85)= 88.00	8,712.00

Contd...P/2



	-P/2-				
11/ 1.1.2	Carriage of earth of all lead up to 2 K.M.	99.00	Cum	56.41	5,584.59
12/ 18.17.6	Providing and fixing un metal gate valve with C.I. wheel of approved quality (screwed end): 80 mm nominal bore.	1.00	Each	1,369.25	1,369.25
	TOTAL			Rs.	39,449.00
			Say	Rs.	39,450.00

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Repairing & maint. Of 1 (one) unit qtr. No. 29/1-2 at Upper Dhowrah colony. V. West colliery."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/	XII/ACE/QTN/2011-12/38/146	57	Date: 16.09.2011
5. Details of E.M.D.	No:	Rs.:	Date:

BILL OF QUANTITY (Sl. No. 14)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 9.5.2.2	Providing and fixing paneled or paneled and glazed shutters for doors, windows and clerestory windows including ISI marked black enameled M.S. butt hinges with necessary screws excluding, paneling which will be paid for separately. 30 mm thick shutters.	4.84	Sqm	810.90	3,924.75
2/ 9.1.2	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position. Sal wood	0.017	Cum	30,511.90	518.70
3/ 9.53	Providing 40x5 mm flat iron hold fast 40 cm long including fixing to frame with 10 mm diameter bolts, nuts and wooden plugs and embeddings in cement concrete block 30x10x15cm 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size).	4.00	Each	61.50	246.00
4/ 11.3 A.R.	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat sement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25 mm thick with 12.5 mm nominal size stone aggregate.	15.15	Sqm	143.75	2,177.45
5/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	54.36	Sqm	67.65	3,677.45
6/ 13.16.1	6mm cement plaster of mix: 1:3 (1 cement: 3 fine sand).	7.06	Sqm	62.15	438.77
7/ 13.7.2	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	11.89	Sqm	97.90	1,164.03
8/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	41.24	Sqm	22.85	942.33
9/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	472.57	Sqm	4.10	1,937.53
10/ 13.39.1	Colour washing such as green, blue of buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime.	80.00	Sqm	9.30	744.00
11/ 6.4.2 (A.R.)	Brick work in F.P.S. bricks of class designation 50 in superstructure above plinth level up to floor V level in all shapes and sizes in : cement mortar 1:6 (1 cement : 6 coarse sand).	0.97	Cum	2,137.95	2,073.81
12/ A.R.	For steel work of all.	58.29	Kg.	6.19	360.81

Contd.....P/2



	-P/2-				
13/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	0.25	Cum	368.45	92.11
14/ 15.56	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	20.00	Sqm	8.20	164.00
	TOTAL			Rs.	18,462.10
			Say	Rs.	18,462.00

I / we quote _____% (_______) above / below the estimated cost.

cost.
Our quoted offer amounts to Rs. _____ (Rupees______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Repairing & re- construction of drain near challa at Upper dhowrah of V. West colliery.."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 15)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 2.6.1	Earth work in excavation by mechanical means (Hydraulic excavator)/ manual means over areas (exceeding 30 cm in depth. 1.5m in width as well as 10sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be leveled and neatly dressed. All kinds of soil.	4.29	Cum	101.85	436.93
2/ 4.1.8	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering – All work up to plinth level:1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size)	1.07	Cum	2,449.00	2,620.43
3/ 6.12.2	Half brick masonry with F.P.S.CD 50 brick of class designation in foundations and plinth in . cement mortar 1:4 (1 cement: 4 coarse sand).	17.83	Sqm	257.25	4,586.76
4/ 11.3 (A.R.)	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat sement including cement slurry, but excluding the cost of nosing of steps etc. complete. 25 mm thick with 12.5 mm nominal size stone aggregate.	6.68	Sqm	143.75	960.25
5/ 13.7.2	12 mm cement plaster finished with a floating coat of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	7.31	Sqm	97.90	715.64
6/ 5.12	Providing, hoisting and fixing up to floor five level precast reinforced cement concrete work in string courses, bands copings, bed plates, anchor blocks, plain window sills and the like including the cost of required centering, shuttering, finishing smooth with 6 mm thick cement plaster 1:3 (1 cement: 3 fine sand) on exposed surfaces complete but excluding cost of reinforcement with 1:2:4 (1 cement : 2 coarse sand: 4 graded stone aggregate 20 mm nominal size).	0.13	Cum	4,880.15	634.41

 $Contd \ldots P/2$



-P/2-

7/ 5.22.3	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete . Cold twisted bars.	12.00	K.G.	42.70	512.40
	TOTAL			Rs.	10,466.82
			Say	Rs.	10,467.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) <u>Phone : 06540-272126 ; FAX 0341-2520063</u>

1. Name of Work: "Repairing & maint. Of challah at upper dhowrah of V. West colliery."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 16)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	3.20	Cum	368.45	1,179.04
2/ 11.3.1	Cement concrete flooring 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate.	76.86	Sqm	192.95	14,830.13
3/ 11.13.1	Providing and fixing glass strips in joints of terrazzo / cement concrete floors. 40 mm wide and 4 mm thick.	71.21	Metre	17.60	1,253.29
4/ 6.12.2	Half brick masonry with F.P.S.CD 50 brick of class designation in foundations and plinth in . cement mortar 1:4 (1 cement: 4 coarse sand).	26.47	Sqm	273.45	7,238.22
5/ 6.4.2 (A.R.)	Brick work in F.P.S. bricks of class designation 50 in superstructure above plinth level up to floor V level in all shapes and sizes in : cement mortar 1:6 (1 cement : 6 coarse sand).	0.93	Cum	2,137.95	1,988.29
6/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	95.39	Sqm	67.65	6,453.13
7/ 13.37.1	White washing with lime to give an even shade: New work (three or more coats)	120.00	Sqm	6.75	810.00
8/ A.R	Providing and fixing A.C sheet rough.	19.00	Sqm	266.60	5,065.40
	TOTAL			Rs.	38,817.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote ____% (______) above / below the estimated cost.

Our quoted offer amounts to Rs. _____ (Rupees_____

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR - 713324, DIST-BURDWAN (W.B.) Phone: 06540-272126; FAX 0341-2520063

1. Name of Work: "Cleaning U.G. reservoir with renovation of back washes arrangement at V. West treatment plant under C.V. Area."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 Date: 16.09.2011 5. Details of E.M.D. No: Date: Rs.:

BILL OF QUANTITY (Sl. No. 17)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/	Earth work in excavation by mechanical means				
2.6.1-	(Hydraulic excavator)/ manual means over areas				
2.36	(exceeding 30 cm in depth. 1.5m in width as well as			(101.85-	
	10sqm on plan) including disposal of excavated	22.74	Cum	13.85)=	2,001.12
	earth, lead up to 50m and lift up to 1.5m, disposed			88.00	
	earth to be leveled and neatly dressed. All kinds of				
	soil.				
2/	Extra for every additional lift of 1.5 m or part	22.74	Cum	18.90	429.78
2.26.1	thereof in. All kinds of soil.	22.74	Cum	18.90	429.78
3/	Providing and fixing G.I. pipes complete with G.I.				
	fittings including trenching and refilling etc.				
18.12.6	 50 mm dia nominal bore. 	34.21	Meter	280.10	9,582.22
18.12.5	ii) 40 mm dia nominal bore.	7.01	Meter	219.60	1,539.39
4/	Providing and fixing un metal gate valve with C.I.				
	wheel of approved quality (screwed end):				
18.17.4	i) 50 mm nominal bore.	1.00	Each	578.20	578.20
18.7.3	ii) 40 mm nominal bore.	1.00	Each	399.00	399.20
5/	Providing and fixing G.I. Union in G.I. pipe				
18.46.6	including cutting and threading the pipe and	2.00	Each	235.60	471.20
	making long screws etc .complete (New work).50	2.00	Each	255.00	4/1.20
	mm nominal bore.				
	TOTAL			Rs.	15,000.91
			Say	Rs.	15,000.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. _____ (Rupees____

) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Roof repairing of 1 (one) unit 'D' type qtr No. D/1 at R.S. Colony, Begunia.."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 18)

SI.No.	Description of Item	Qty	Unit	Rate	Amount
1/ 12.15.1	Painting top of roofs with bitumen of approved quality at 17kg per 10sqm impregnated with a coat of coarse sand at 60 cudm per 10sqm including cleaning the slab surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil complete: with residual type petroleum bitumen of penetration 80/100	140.78	Sqm	63.00	8,869.14
2/ 0115	Cleaning of roof labour .	2.00	Each	135.25	270.50
	TOTAL			Rs.	9,139.64
			Say	Rs.	9,140.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote% () above / below the estimated
cost.	

Our quoted offer amounts to Rs. _____ (Rupees_

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

- 1. Name of Work: "Repairing of canteen building at B. Mata. Colliery."
- 2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467

5. Details of E.M.D. No:

Rs.:

Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 19)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/	White washing with lime to give an even shade:	440.14	Sqm	4.10	1,804.57
14.42.1	Old work (two or more coats).	440.14	Sqiii	4.10	1,004.57
2/	Colour washing such as green, blue of buff to give				
13.39.1	an even shade: New work (two or more coats) with	207.00	Sqm	9.30	1,925.10
	a base coat of white washing with lime.				
3/	Painting with synthetic enamel paint of approved				
14.54.1	brand and manufacture of required colour to give an	67.00	Sqm	22.85	1,530.95
	even shade: one or more coats on old work.				
4/	Dismantling doors, windows and clerestory				
15.12.1	windows (steel or wood) shutter including		- ·	- 4 - 60	1 (2 00
	chowkhats, architrave, holdfasts etc. complete and	3.00	Each	54.60	163.80
	stacking within 50 meters lead: of are 3 sq. metres				
= (and below.				
5/ 9.1.3	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought				
9.1.5	framed and fixed in position. Kiln seasoned and	0.072	Cum	31,339.40	2,256.43
	chemically treated Hollock wood.				
6/	Providing 40x5 mm flat iron hold fast 40 cm long				
9.53	including fixing to frame with 10 mm diameter				
9.55	bolts, nuts and wooden plugs and embeddings in				
	cement concrete block 30x10x15cm 1:3:6 (1	8.00	Each	61.50	492.00
	cement : 3 coarse sand : 6 graded stone aggregate				
	20 mm nominal size).				
7/	Providing and fixing paneled or paneled and glazed				
9.5.2.2	shutters for doors, windows and clerestory windows				
	including ISI marked black enameled M.S. butt	2.24	G	010.00	1 010 70
	hinges with necessary screws excluding, paneling	2.36	Sqm	810.90	1,912.78
	which will be paid for separately. 30 mm thick				
	shutters.				
8/	Dismantling old plaster or skirting raking out joints				
15.56	and cleaning the surface for plaster including	83.62	Sqm	8.20	685.68
	disposal of rubbish to the dumping ground within	05.02	Sqiii	0.20	005.00
	50 metres lead.				
9/	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine	55.00	Sqm	67.65	3,720.75
13.1.2	sand).	55.00	Squi	07.00	5,720.75
10/	6mm cement plaster of mix: 1:3 (1 cement: 3 fine	28.62	Sqm	62.15	1,778.73
13.16.1	sand).	20.02		02.10	1,770.75
	Cement concrete flooring 1:2:4 (1 cement:2 coarse				
11/	sand: 4 graded stone aggregate) finished with a				
11.3	floating coat of neat sement including cement	42.19	Sqm	143.75	6,064.81
(A.R.)	slurry, but excluding the cost of nosing of steps etc.		is oqui	173.13	0,004.01
	complete. 25 mm thick with 12.5 mm nominal size				
	stone aggregate.			l	Contd D/2

Contd....P/2



	-P/2-				
12/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	1.02	Cum	368.45	375.82
13/ 12.15.1	Painting top of roofs with bitumen of approved quality at 17kg per 10sqm impregnated with a coat of coarse sand at 60 cudm per 10sqm including cleaning the slab surface with brushes and finally with a piece of cloth lightly soaked in kerosene oil complete: with residual type petroleum bitumen of penetration 80/100	84.00	Sqm	63.00	5,92.00
	TOTAL			Rs.	28,003.42
			Say	Rs.	28,003.00

I / we quote% () above / below the estimated
cost.		
Our quoted offer amounts to Rs.	(Rupees	
) including the above perce	entage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR - 713324, DIST-BURDWAN (W.B.) Phone: 06540-272126; FAX 0341-2520063

1. Name of Work: "Repairing & maint. Of 1 (one) unit CT Type qtr No. CT/8 at R.S. Colony, Begunia under C. V. Area."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/	XII/ACE/QTN/2011-12/38/146	57	Date: 16.09.2011
5. Details of E.M.D.	No:	Rs.:	Date:

BILL OF QUANTITY (Sl. No. 20)

SI.No.	Description of Item	Qty	Unit	Rate	Amount
	Grading roof for water proofing treatment with				
1/	cement concrete 1:2:4 (1 cement: 2 coarse sand: 4	0.68	cum	3,314.95	2,254.16
22.14.1	graded stone aggregate 20 mm nominal size).				
2/	Neat cement punning.	17.88	Sam	21.40	382.63
13.18		17.88	Sqm	21.40	382.03
	Cement concrete flooring 1:2:4 (1 cement:2 coarse				
3/	sand: 4 graded stone aggregate) finished with a				
11.3	floating coat of neat sement including cement	15.63	Sqm	143.75	2,246.81
(A.R.)	slurry, but excluding the cost of nosing of steps etc.	15.05	Sqiii	145.75	2,240.01
	complete. 25 mm thick with 12.5 mm nominal size				
	stone aggregate.				
4/	Providing wood work in frames of doors, windows,				
9.1.2	clerestory windows and other frames, wrought	0.070	Cum	30,511.90	2,135.83
	framed and fixed in position. Sal wood				
5/	Providing 40x5 mm flat iron hold fast 40 cm long				
9.53	including fixing to frame with 10 mm diameter				
	bolts, nuts and wooden plugs and embeddings in	10.00	Each	61.50	615.00
	cement concrete block 30x10x15cm 1:3:6 (1				
	cement : 3 coarse sand : 6 graded stone aggregate				
~ 1	20 mm nominal size).				
6/	Dismantling doors, windows and clerestory				
15.12.1	windows (steel or wood) shutter including	2 00		54.00	100.20
	chowkhats, architrave, holdfasts etc. complete and	2.00	Each	54.60	109.20
	stacking within 50 meters lead: of are 3 sq. metres and below.				
7/	Taking out doors, windows and clerestory window				
15.13.1	shutters (steel or wood) including stacking within	1.00	Each	21.40	21.40
15.15.1	50 metres lead: of area 3 sq. metres and below.	1.00	Each	21.40	21.40
8/	Providing and fixing paneled or paneled and glazed				
o/ 9.5.2.2+	shutters for doors, windows and clerestory windows				
9.3.2.2+ 9.7.2	including ISI marked black enameled M.S. butt			9810.90+	
	hinges with necessary screws excluding, paneling	1.25	Sqm	711.25)=	1,902.68
	which will be paid for separately. 30 mm thick			1,522.15	
	shutters.				
9/	Half brick masonry with F.P.S.CD 50 brick of class				
6.12.2	designation in foundations and plinth in . cement	1.50	Sqm	257.25	385.87
	mortar 1:4 (1 cement: 4 coarse sand).	1.00		207.20	202.07
10/	12 mm cement plaster finished with a floating coat		~	07.00	100.10
13.7.2	of neat cement of mix: 1:4 (1 Cement: 4 fine sand).	1.81	Sqm	97.90	177.19

Contd.....P/2



	-P/2-				
11/ 13.1.2	12 mm cement plaster of mix: 1:6 (1 Cement: 6 fine sand).	29.26	Sqm	67.65	1,979.43
12/ 14.54.1	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: one or more coats on old work.	49.83	Sqm	22.85	1,130.61
13/ 15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 meters lead as per direction of Engineer- in-charge. 1:3:6 or richer mix.	0.375	Cum	368.45	138.16
14/ 14.42.1	White washing with lime to give an even shade: Old work (two or more coats).	276.27	Sqm	4.10	1,132.70
15/ 13.39.1	Colour washing such as green, blue of buff to give an even shade: New work (two or more coats) with a base coat of white washing with lime.	66.00	Sqm	9.30	604.50
	TOTAL			Rs.	15,224.17
			Say	Rs.	15,224.00

I / we quote _____% (_______) above / below the estimated cost. Our quoted offer amounts to Rs. ______ (Rupees______

_____) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer





OFFICE OF THE GENERAL MANAGER CHANCH-VICTORIA AREA-XII P.O.-BARAKAR – 713324, DIST-BURDWAN (W.B.) Phone : 06540-272126 ; FAX 0341-2520063

1. Name of Work: "Cleaning of debris near main gate of Area office."

2. Name of Tenderer :

3. Address:

4. NIT No. : BCCL/XII/ACE/QTN/2011-12/38/1467 5. Details of E.M.D. No: Rs.: Date: 16.09.2011 Date:

BILL OF QUANTITY (Sl. No. 21)

Sl.No.	Description of Item	Qty	Unit	Rate	Amount
1/	Carriage of earth lead up to 2 K.M.				
1.1.2/		141.83	Cum	56.41	8,000.63
54					
	TOTAL			Rs.	8.001.00

Having gone through the Tender documents & elements of work in the bill of quantity :-

I / we quote% () above / below the estimated
cost.		
Our quoted offer amounts to Rs.	(Rupees	

__) including the above percentage.

SIGNATURE OF ISSUING OFFICER

Signature & seal of Tenderer

-2-



FOR PAYMENT TO CONTRACTORS *Triplicate*)

(Note: To be submitted in

PROFORMA FOR COLLECTING PAYMENT THROUGH ELECTRONIC MODE INCLUDING ELECTRONIC FUND TRANSFER (EFT) & ELECTRONIC CLEARING SYSTEM (ECS)

1	Vendor/ supplier/ contractor/ customer's name & address (with telephone number & Fax number)	
2	Particulars of Bank Account	
	a) Bank Name	
	b) Branch Name	
	(Including RTGS Code)	
	Address	
	Telephone No. & Fax No.	
	c) 9 – Digit Code Number of the Bank & Branch	
	(Appearing on the MICR Cheque issued on the	
	bank) or 5 digit code number of SBI	
	d) Account Type	
	(S.B. Account/ Current Account or Cash Credit	
	with code 10/11/13)	
	e) Ledger No./ Ledger Folio No.	
	f) Account Number (Core Banking) & Style of	
	Account	
	(As appearing on the cheque Book)	

3. DATE OF EFFECT:

I hereby declare that the particulars given above are correct & complete. If the transaction is delayed or not effected at all for reasons of incomplete or incorrect information, I would not hold the user institution responsible. I have read the option invitation letter and agree to discharge responsibility expected of me as a participant under the scheme. Any bank charges levied by the bank of such etransfer shall be borne by us.

Date:-

	()
Signature	of	customer/	vendor/	supplier/

contractor

Certified that the particulars furnished above are correct as per our records.

(_____) Signature of the authorized officials from

the Bank





ANNEX-III

DECLARATION

I,	, Partner/Legal Attorney/ Accredited Representative of M/S
	, solemnly declare that :
1.	We are submitting Tender for the Work
	against Tender
	Notice No dt
2.	None of the Partners of our firm is relative of employee of Bharat Coking Coal Ltd.
3.	All information furnished by us in respect of fulfillment of eligibility criteria and qualification information of this Tender is complete, correct and true.
4.	None of the partners of the Firm has either individually or collectively been involved in criminal offences.
5.	I hereby declare that /our firm has not been banned or delisted by any Govt. or Quasi Govt. agencies or PSUs.
6.	All documents/ credentials submitted alongwith this Tender are genuine, authentic, true and valid.
7.	If any information and document submitted is found to be false/ incorrect any time, department may cancel my Tender and action as deemed fit may be taken against us, including termination of the contract, forfeiture of all dues including Earnest Money and banning / delisting of our firm and all partners of the firm etc.

-4-

Signature of the Tenderer

Dated-----

